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LIBRARY & INFORMATION

oy A AL [Asti-

SCIENCE AT
PAPER - III
Note :This paper contains Seventy Five (75) Multiple-choice/Assertion and
Reasoning/Matching questions carrying TWO (2) marks each. Attempt All
the questions.
Wl Bl Wl YA (9u) elgRselly sedl, Wl A AssL eriadinl el
& i WSl galel aval ©. dds wsi A () 2L 8.
1. A regression curve Is : 1. UM AsIvL ... 0.
(A) a model of a mathematical '
relationship (8) aURidla welad, Hisa
(B) a model of a direct relationship o ol st alsted a
G gl * HLSE
between two variables (B ¢ Ualcieatel 2IELAMAG,HISE
(C) a model of an inverse (©) 6 Al a2l [Ruld deiad
relationship between two
variables Hisd
(D) a model to depict central N _—— . .
: P D) 3[rsu dgluzil ealdd Hisd
tendency
9 The Dublin core metadata elements 9. 515 HU[Sdl Aala-q elifas duel dls
related mainly to the resource as R R X
: b g - callal WA Asldd sl sz Helsel
intellectual property are :
(A) Creator, Publisher, Identifier AeflAred sul 9 7
and Rights
£ us9Ls, ORI 2 €55
(B) Creator, Publisher, Relation (8) UFs, Hslals, ANARe 2 ¢
and Rights _ ¢ . -
(B) u%s, wslals, A6lE A 855
(C) Creator, Title, Subject and
Relation (C) %S, AduH, [Auy v Hold
(D) Creator, Publisher, |
Contributor and Rights (D) AUXS, HUslus, Ueldsdl A 855
L. &I S.-III 3 [P.T.O.]




Legal Deposit Acts are normally

linked to :

(A) National and Public Libraries
(B) Academic Libraries

(C) Research Libraries

(D) Business Libraries

GUI stands for :

(A) Graphical User Interface

(B) Global User Interface

(C) Geographical User

Information
(D) Graphic Utility Interface

What is the programming language

for CDS/ISIS Interfacing ?
(A) FORTRAN

(B) COBOL

(C) FORTRAN 7.7

(D) PASCAL

L. & 1. S.-III

‘dloe sluizfle Bse’ =gl sl
Al Asnddl © ?

(A) AlA 24 q s Auiay)
(B) @tai[@tgéiattc-tl&

(C) Heligd Al

D) dalfly Al

GUI 9+l 412 & ?

(A) slsd Yyrz Srerdy (Graphical

User Interface)

(B) ddistd Y% $-e3A (Global

User Interface)

(©) wdluslsd yn:  Sqasdoe
(Geographical User

Information)

(D) wsls Y2ldlél S-223 (Graphic
Utility Interface)

CDS/ISIS Hie s1dsu-l ain s¢
9 7

(A) siglq

(B) siolid

(C) sigl+ 77

(D) Jse




6. An Expert System is : 6. eyl ey 9 9 7

(A) A Software Program , = s
(A) Uls2d UAM

(B) Database Management
(B) Sa16is HA%Hve

System

(C) AAoHre Srsriadt [y
(C) Management Information

M) st Aeld vald

System
(D) Knowledge Based System 7 [QGEre usial dsdsl weeldl du-
7 A list of technical words especially w9 Al wel 2% $3dl AlssH AU

those in a particular text, explaining

their meaning is :
(A) AGES™

(A) Dictionary

B) suasin ([Qzasiv)

(B) Encyclopaedia

) ALl
(C) Thesauri

5 3 s oy
(D) Glossary (D) *diuzl

L. &1 S.-1II 5 [P.T.O.]




8. Match the following and select the 8 {3« [Rsecla RE| :

correct answer from the codes given YA 29 5312
below : _
| @ sl @ ®. ¢z
Technique - Founder
‘ _ [Feallse
(z)  Chain (@) G. Bhattacharya
. Gy AL ® MR a8
Indexing .
@) PRECIS ®) Mortimer Taube Gii) IR © “;R“’“?-
)
(i) POPSI () S.R. Ranganathan R
(iv) Uniterm (d) Derek Austin @) ﬁ,[-'\ta"[ @ éﬂ& Q:{L%él-—l,
Tidasing [Meallsze
Codés : 51S
QG GE) (o) G G GE)  Gu)
A © d (@ (b) A) ©0 @ (o (b)
B) © @ & @ B) © @ & (@

© ® @ © @ © ® @ © @

D ©® © @ @ D ® © @ (@

9. Which management school regards . ; N
: 9. 59 AAlasly [Qaall daAlga

ABas uBul 3% 1512 & ?

management as a wuniversal

process ?

(A) The Human Relations School @) undly aHQLﬂ' [zl

(B) The Classical School (B) ulwre Rl

(C) The System School - ©) Hﬁ[ﬁ_[ELQ{LQELRL

(D) The Social Systems School D) AMUFs vygla Qi
L. &I S.-III 6




10. Melvil Dewey started his first

11.

library school in :

(A) Columbia College

(B) New York State Library in

Albany

(C) Adams Center, New York

(D) Ambherst College

Assertion (A)

Reason (R)

Codes :

Maximization
of the use of
documents is
the motto of

the library.

Maximization
of the use of
documents
satisfies the
Fifth law of

library science.

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
L. &1 S.-II1

10, Aad syd¥ du-dl wad Aulay

11.

il w3t 530 edl

(A) sidlBian sia%

(B) ucAFHidl s e ada?l

(C) »lex A2z, Yuls

(D) 21HeRR 51A%

54 (A)

519 (R)

515

YALIAL HSTH
BuylaL eX)
A yray-l

Haldul 0.

UAVIAL HSTH
GUYl AALEY
(st wiaHl

Yo Adid V.

(A) (A) A (R) 6iq AL &

(B) (A) 4 (R) ol viial &

(©) (A) AR & uid (R) ¥ &

M) (R) A & uig (A) “ig &

[P.T.O.]




12. In communication process the point, 12, MU uEBHL dsl & [‘G{r@ (3yd]

at which the message originates is Ged © A R

. known as :
(A) “1af
(A) Channel
| (B) wlld
(B) Source
(C) Ultdsdl

(C) Receiver

D) 2A-5is2
(D) Encoder ( _) .

i r i > = *
13. Which principle is violated when 13 sty ari sifan Baiu

the head of the order section of & 4[aR iU 2R e R s

university library goes on a long diofl 292l Bu Aleul oy 3 sy|

vacation during the last days of the ﬁ{e&[d*& ool iy B ?

financial year ?
(A) [d
(A) Discipline

(B) ML [Sd-l A1 2l ailg
(B) Subordination of individual :
g
interest to general interest

C) el Asaisudl
(C) Unity of Command © Glode

(D) Unity of Direction _(D) elRaelldl Hsatsydl

L. &I S.-II1 ' =




14. Which of the following libraries
plays a crucial role in the life of

an individual in creating love for

books ?
i (A) Research Libraries
(B) School Libraries
' (©) College Libraties
(D) University Libraries

15. In the context of information
transmission the term ‘bandwidth’

denotes :

(A) A protocol

(B) Network topology
(C) Channel capacity

(D) Transmission media

L. &1 S.-III

14. ABdAL @AMl AUl HizHdl 31 Gledl

15.

sl Al syl AAlaul

ool o[isl eod © 7
(A) Adla Auaul

(B) ol Auladl

() Hellaaay aduiaul
(D) [ﬁﬁq@atem SRR

Rl 0L Aeciul ‘elrsdlsy’

ue g eauld © 7

(A) Mielsid

(B) ded$ za-l

(C) Hol &mdl

(D) a4l HiH

[P.T.O.]




16. The Science Direct Database is 16. Ald~w  suse  Sally s
developed by : [asuiel ?
(A) Emerald (A) VHRUES
(B) EBSCO (B) ieasi
(C) Sage Publications (C) él"z{ H[BGGQL"%{
(D) Elsevier D) AR
17. According to AACR-II, author of a  17. 1 2 ] 2A1R—3 {6l 52l 244
Map or an Atlas is : Asadifldl sdal sier sl © ?
(A) The publisher (A) uUsls
(B)  The cartographer (B) saUslR
(C) The illustrator (C) [A=s12
(D) The designer (D) [Saert. dulz sIR
18. Which of the following is an example ~ 18. ~lla-uMial sy Aot Aolud Gele
of Associative relationship ? 0 7
(A) Rivers—Ganga (A) glai—ddou
(B) Salt—Sodium Chloride B) H§—ilsun sdirlds
(C) Deforestation—Soil Erosion ©) [Rd-lsre—oldd «lae
(D) Aves—Parrots (D) uallai—ylve
L. &I S.-III 10
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19.

20.

Match the following and select the
correct answer from the codes given

below :
(i) Weekly Listing (a) Pre-prints
List of Nobel

(i1) (h) Benet's Reader’s

Prize Winners Encyclopaedia
(iii) Literary Terms (¢) The world
almanac and

book of facts

(iv) Grey Literature (d) BNB

Codes :
@ @ @) @)
A d ©© & (@
B) © @ b @
) @ @©© @ ®)
o © @ & @
Which one of the following

states does not have Public Library

Act ?
(A) Karnataka
(B) Andhra Pradesh
(C) Kerala

(D) Madhya Pradesh

L. &I S.-III

i §

19.

20,

3L [Rsedld st

O q6alds ALl @ B[
@) et Y51 6) Ay TSR
AL s~

R

[zl
ylel
RS UEl () 9 AeS wUEHAAS

(iii)

WS o5 Vs

523,
G A Alect @) ol 2.0l
1S ¢
@ @ i) (o)
A @ ©© b @
B) ) @ ) (@
C) @ © @ O
D) © @ ) @

DAl sdl ML s Awan
»EMyH (Public Library Act)
2 Bcdcaml el 7

Aa) sales
(B) iy ded
(C) 34
(D) Hed ued

[P.T.O.]




21.

22.

23.

Which of the following is not formal

communication ?
(A) A written policy
(B) A manual

(C) A board room meeting in a

college
(D) Invisible college

Open systems interconnection was

an effort to :

(A) Standardize networking

(B) Provide internet connectivity
(C) Provide E-mails

(D) Standardize bibliographic

description

The information facility at the
national level established by UGC
for the benefit of teachers and

research scholars is :
(A) NICNET

(B) ERNET

(C) DELNET

(D) BONET

L. &I S.-III

21.

22,

23.

Al sy Als w2 ?
(A) ald Al

(B) A~y

(©) uelldznayyidl AM™dl dss vis
(D) g2y Helldenay

WA RHReuy Svesasue ...

Hiedl Ut edl.

(A) easlod widis

(B) 222 51534 43 wsd)
(C) 5—116&1;3{[ YLsel

(D) AsHUY[Ad1d aeleAl Hidis

(2815l 2470 2dellasi-u qiet W12 Yol
glRl U d3 Glell s 2udd)

Hledl vadd s & 7
(A) ls-e
(B) 2z
(C) sa-e

(D) o2




24. Switching systems : 24

(A) Provide interconnected paths
between nodes o o

communication networks

(B) Ensure that data is kept safe

from corruption

(C) Provide a common physical
connection point for computing

devices

(D) Are basically protocol

converters _ . ! oF

95. Match the following and select the
correct answer from the codes given

below :
(;) Planning (a) Delegation of
authority

(i) Staffing () Audit
(fii) Controlling (¢) Promotion
(iv) Organizing (d) Goal setting
Codes :

@ G @) (Gv)
(A d @ (@ 6
B) @ & ©@© (@
C) @ & © @

M) @ ) b (@)
L. &1 S.-III 13

Razflo e :

(A) Wcdldd deds-l «lsyd HLe
YR ASIA WA YA WS 9

(B) S sl s ©

© sy dlor [Beadalaq oilas
AL W2 35 Big Y3 W @

(D) ulll veisia s=ad o

{12l [Etsc—ﬁlr“t Bsl

G) Ul (@) Axtiel Aluell

@) sdaulow  (b) 2isle

(i) g2 (c) uelidl
 (jv) HeRal (@) agu [Rala
£1S :

@ @) G Go)
A @ © @ b
(B) ) ) () (@)
© @ ® © @

O @ @ & (@

[P0




26. The .executive editor of 26. ‘VAALSsAIUBUL s ASAR] i

2.

‘Encyclopaedia of Library and

Information Science’ is :
(A) Eugene Garfield
(B) S.R. Ranganathan
(C) L.M. Harrod

(D) Allen Kent

Which of the following statements

about :

(t) Transiation and
(i) Photocopying

is true ?

(A) () is passive service and (i7) is

active service

(B) (@) is active service and (if) is

passive service

(C) Both (i) and (ii) are active

services

(D) Both (i) and (ii) are passive

services

L. &I. S.-III

27.

Oesaln, A AL Yoo duies S0
9 7
(A) Y- oulEes

(B) .21, o118

(O nd.AH. &RUs

D) 4 32
Which_& the following statements -
about : |

@ ddle 244

@) UcUdvis (Photocopying) [
AAig s34 Qad wyg & ?

(A) @) [y Aal & x1A (i) uBy
Adl 6

B) @) ABy AL B 2 (i) [Alsy
Adl €

(©) @) @ () o uBU Al &

D) @) 21 G) ol FBsy AqL &




98. Which of the following is true of

.29,

L. &1 S.-III

28.
Referral Service ?
(A) It brings users and services
together
(B) It gives pinpointed information
to users
(C) It provides exhaustive
infofmation to users
(D) It provides current awareness
to users
In an information transfer cycle, the ~ 29.
author is at the following stage :
(A). Storage
(B) Archiving
(C) Production
(D) Distribution
15

Hdl Mew Adl (Referral Service)

w2 (Al o g 9 ?

(A) A Gudlotsalall 2 Adiviiq A8
2]

B) A Guuiasdliia 2Alss Hiledl
LY 69

() A Gualosalziia [@Aqd Hiledl

yl wd 8

S N

D) d  GuAdLsdlid  2dd-

Maofigddl Yl ws ¢

yiRdl sadidzel asyl sal A

AUl U 2d 9
(A) dAe

(B) wl[Hav{ls8l
Geyled

(C)

M) [Adzw

[P.T.O.]




30.

31.

(i) The Third

Match the following and select the
correct answer from the codes given

below :
(z)  Little Science, (¢) S.C. Bradford

Big Science

.(r'.i) Documentation (b) William Martin

() Derek de
Wave Solla Price

(iv) The Information (cf) Alwin

Society Toffler
Codes :
@ @G L) Gv)

@A) @ o @© @@
(B) © (@ @ ®)
C @ b © (@
M ©@© & @ @

Standing Conference of National
and University Libraries (SCONUL)
that was formed in 1950 changed
its name in 2001 to :

(A) Standing College, National
and University Libraries

(B) Society of College, National
and University Libraries

(C) Standing Council on National
and University Libraries

(D) Standing Committee on National
and University Libraries

L &I S.-III

30. <flaAdl [Qseuiqd sl :

31.

O dled AU, @ LA,

oflor A1y 0lS51S
@ Slsyiead @) [Alay Wl
@) 84S Add- () 835 9l Hdl
LS

o) 8 9sHud (@ Rkad 2saR

AlH1uel
3.15:
@ G G G)

(A) @ &) @© (@@
B) © (@ @ ®)
C) @ » © (@
D ©© b @ (@
1eV0 HI g

Conference of National and
University Libraries (SCONUL) 2l
RO0 H dd U olgey q

‘Standing

(A) Standing College, National

and University Libraries

(B) Society of College, National

and University Libraries

(C) Standing Council on National

and University Libraries

(D) Standing Committee on National

and University Libraries




32.

33.

34.

Referencing is important :
(A) to avoid plagiarism
(B) to avoid censorship
(C) to avoid copyright
(D) to avoid IPR

‘India Office and Records’ is related

to :
(A) Library of Congress
(B) British Library

(C) Bibliotheque Nationale de

France
(D) The National Labrary, India

In a study to find the information
seeking behaviour of children,
which one of the following research

methods is most suitable ?
(A) Experimental

(B) Historical

(C) Case study

(D) Survey

L. &L S.-II1

32.

33.

34.

Aectl wUAl LAl Sid 6
(A) wlelas AR aal 1

(B) AU andl M2

(C) 2Bl SR el 12
(D) Cillzs duel 2Es 20 1
(Soul A s 55U sid
Aol © 7

(A) ASA] s i

B) B adal

©) [Brocl>iids Aadd sl siu

(D) Wl Aadd, Hird

o sl HURBA Ml adsls el
WSt el DAl s aan

ygld aald Ay o 7
(A) MALLUHS
B) Hilasius
(C) l5ddld ACUA

D) udawt
[P.T.0.]




35. DESIDOC provides information 35.
services in the field of ............. ;
(A) Deforestation
(B) Development Economics
(C) Defence
(D) Deserts
36. ‘Quality Circles’ is a technique -
used in : o
(A) Personnel Estimation
(B) Personnel Evaluation
(C) Management Control
(D) Participative Management
37. INDEST Consortium is established
fip: 37.
(A) UNESCO
(B) UNISIST
(C) MHRD
(D) INFLIBNET
L.&I.S.-III 18

SlSis sl axtul iRl Aad y3)
us 9 ?

(A) [Rd-ls3ul
(B) [Asvaall 52
(C) A&m
(D) 8L el

‘salfed] uben’ wRAR Guylomi day
@ 2
(A) sl [Rvus vigl
(B) sl yeyisq
(C) Aasly »iga
D) ™Mlletlydsy Haiaq
6v62 sAlRlymAL ydqy
(A) Y-z

(B) y[HRie

(C) ™23 8]

D) Swsdloqe




38. A good open access source for
research report on life sciences 1s :
(A) PubMed
(B) INSPEC
(C) BIOSIS
(D) SPINE
39. Match the following and select the
correct answer from the codes given
below :
(i) Foder’s India (a) Dircctory
(i1) World of (b) Periodicals
Learning Bibliography
(7¢) Ulrich’s (¢) Year Book
Directory
(v) India : A (d) Travel Guide
Reference
Annual
Codes :
G @) @) (o)
A) ) (@ ) (c)
B) @ © B
) @ B @ (@
D) b)Y (d) (a) (¢)
L. &1 S.-1I1
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38.

39.

(C)

s [Estidl uzl dgidd ¢Hedld
WSl Sl AL iU ssAA @l
£% 2
(A) U6l HS
(B) =AU
ol

(D) FULH
P11 [Aseul st

sl Sksul (o) [BseR]

(i)

(i) 9AES S () Asi-l
dllay ALsHUY R

i) »ala (c) WSl o8
(835221

o) SksuL @ 2 (d) AR
3537 yiolelalst
A=Y

51S
@ G G )

A) @) (@ (b (©

B) @ @ &) )

) (© b)) @& (@)

D) b)) & (@ ()

[P.T.0.]




40. Canon of Sought Heading takes
care of :

(A)
(B)
(C)
(D)

Permanence of headings
Approaches of users
Arrangement of entries

Consistency in preparation of
entries

41. Which of the following search

strategies does not involve the use
of Boolean operations ?

(A) Building-block search
(B) Truncation

(C) Pair-wise facet strategy
(D) Successive facet strategy

42. Match the following and select the

correct answer from the codes given
below :

@) Life Sciences () INSPEC
(iz) Medicine (b) SPINE
(c) ERIC
(d) Medline

(iii) Physics
(v) Education
Codes :

@)

(A) ()
(B) (b)

(C) ()
D) (e)

L. &I. S.-1II

(i7)
(c)
(d)
(c)
(a)

(1it)
®)
(@)
(d)
(®)

(fv)
(a)
(c)

(b)
(d)

40.

41.

42,

20

=

WHLAL HAWU, BUAst ] W
9

(A) Hyoua-l Redg

(B) GudlaLsalaiirl »L[40134)
(C) il olsael
D) -8l AR s S5yl

ll2Atiniel] 56 slle ey arn ollys
Aiuedl Guylal «) 53914
el

(A) [Biesla oels sy

(B) 2%+
(C) "zl 3de P
(D) AsAA{la 332 P2

[Aseuid s
© %05 Qsudl (@) Sl
(ii) dAss (b) LT,
Gii) olllds s (o) 2Us
Gv) [al (d) HSELS
1S

@ @) G G

A @ © b (@
B) ® @ @ ()
(C.) @ @© @ ®)
D ©@ @ ® @




43. Match the following and select the 43, A8 [Bsedl st ¢

correct answer from the codes given

) dldlu (@) ™l=d
below : :
| | (i) Surdls (B) 4
) CILIP (@) India

i) gl ) YA

i) IASLIC  (») UK (iii) 0% ek et
Gi)) IFLA ) USA (fv) AAVIEH, (d) "5
(iv) SLA (d) Netherlands 518
Codes : (1) Gi) @) (@)

A) B @ @ @ B) d) B (@ (©

B) @ b)) (@) (¢)
) B (@ @ ©

) ® @ @ ©
M © (@ @ ©®)
D) © (@ () b)
44 wedl Redul ‘els @ss’ sauld
44. “Half Life” in Information Science

-

£9
refers to :

_ (A) $laAddLddl £
(A) Rate of obsolescence )

(B) Rate of Growth B) ale-l e

(C) Degree of Scatter () [Auziard ws
(D) Immediacy Index (D) deste Guuiall Ml

L. &I S.-111 21 [P0




45.

46.

47.

In the spiral of scientific method,

the span of Nadir to Asbendant

(A) Empirical phase

(B) Hypothesizing phase
(C) Deductive phase

(D) Verification phase

The terms X’ and ‘Y’ axes are not
applicabledto wimm.... .

(A) Bar chart

(B) Pie chart

(C) Line graph

(b) Frequency polygon

The . .

process of transferring

software program from secondary
storage media to the hard disc is

called ......................... :
(A) Download

(B) Upload

(C) Installation

(D) Storage

L. & 1. S.-III

45.

46.

47.

dattlts uglal gsollui gl

Gedoual yelleil @y g sy @ ?
(A) AMHA% doiss)

(B) GBeseustl Al doiss)

(C) [l doiss)

(D) AstAR(AL doiss)

K ¥V 28 L. ML Al Ysdl

(A) our e
(B) W we
(©) s Als
(D) [Bsa=il vidlon

A5 2l ASlumiell e [Rasyj
AS2AR wadidRd (pis2) saa]

Uldul g sy & ?
(A) SIBHHLS

(B) »4dis

(C) S=2ida-

(D) 223%




48. Which of the following institutes 48. -‘\;{Lc[og[ltg danauHl ‘eun Qe A3

rovides matchin rants for 5 A ’ )
P g8 caql H3 AAumizll 59 UL AAidR

establishing ‘Children’s Corner’ 1n -
deld Y W ¥ 7

public library ?

(A) 3ol
(A) UGC
(B) 2L.2L.21.dL.8l. (RRRLF)
(B) RRRLF
(C) CBT ©) Hdlellél
(D) National Library of India (D) ®lRdd gl Uty

49. In which research method, is the 49 & dgiad U i :Q,ié[;dd A4’ ol

concept of “Controlled Group” Rota-l Gudiami dar Q ?

used ?
(A) AgllcHs
(A) Descriptive

(B) MulAUMHS
(B) Experimental

L ©) dAlasis
(C) Historical

(D) Sampling (D) ~¥ril

L. &1 S.-III | 23 [P.T.O.]




50. Match the following and select the 50. {13l [@Qsyl gl

correct answer from the codes given

below - (D) &S (@) A1 U 4
()  Facebook (a) Larry Page and _ | A3y ofl+
Rezgey: Buin (i) edlex ®) 2l o2 o]
(i) Twitter (b) Tim Berner R N
() 48 AUSS () ¥s Sl
Lee
(zi2) World Wide (¢) Jack Dorsey Aot
Web (iv) 214 (d) L5 Bs0600
(iv) Google (d) Mark Zucker- £E

berg
@ G G (o)
Codes :
d b
@ G i) Gv) A @ B e
A) © @ b (@ B) @ @ B (

B) ) @ B () € ® © @ (@
© ©® © @ @
D) @ © & @

D @ @ ) (@)

51, ANl HivyL 313wy aulRidls
51. Mathematical formula for

1 ?
staffing pattern was recommended Yol eame s L el

by : (A) »¥.2. oz

(A) S.G. Bhattacharya "
(B) [faxy«
(B) Neelmeghan

. C) AA.2UR. Ty
(C) S.R. Ranganathan ©

(D) C.P. Shukla D) Al 3¢
L. &1.S.-1I1 24




52.

53.

‘Control-access directional

type sources’ were recognised

by csisee :

S.R. Ranganathan
Margaret Hutchins
William Katz

(D)

Krishan Kumar

Match the following and select the
correct answer from the codes given

below :

(@) Who's who of _(a)Centra]
Indian Writers Reference

Library

(ii) University (b) Sahitya

News Academy

(Gii) Indian National(c) Europa
Bibliography Publication

(iv) World_ of (d) Association

Learning of Indian
Universities
Codes :
G G G G)
A) b @ @ (©
®) @ @@ @ ©
©) @ ® @@ (©
D ) @ & ©®)

L. &L S.-1II
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52.

53

Bl Wid 1z FEa sl wldl
a0 wued sl edl ?

(A) AR 22U

(B) uUe gedlu
) [Qlaa sen -
D) BwgHir

QA Rsedld st ¢
() ¢ WS (@) A2
Shsuq uded WA

Gi) 4FaREl e @)

Gin) SEsuAd Audd (o) 3R
[Broc/ltias) uBeba

(iv) aAes s (d) PARAAA

IR s Slrsu
yRaRil
51S 3
G () @) Gv)
@A b @ @ ©
B) & © (@ ©®)
) @ & @
M) ) (@ @& ®)
[P.T.O.]




54. Report on the ‘Development of

digital libraries of the paét decade’

1s categorized as ....................... :
(A) Annual Report

(B) Trend Report

(C) Feasibility Report

(D) State-of-the-art Report

55. Accommodating a new class
between two existing consecutive

classes is :

(A) Interpolation
(B) Extrapolation
(C) Superimposition
(D) Extension

96. The Farmington Plan is associated

with :

(A) Library Legislation
(B) Library Co-operation
(C) Library Cataloguing

(D) Documentation

L. &1 S.-III

55.

o6.

‘edl esUl Slwed dAaiqy Rsi’
UL védldd il saul 3

ASLY
(A) als sdag

(B) udle iy

(C) sl daly

D) ualla Méq;d

oL [Qenin s0s aol a2 g wd) qof
ALaaI 4 sl 2d @ ?
(A) iduay

(B) Gllemey

(QREZTEIR

D) [Adlz

‘siloer e’ DA wWoild ® :
(A) Auldy 1)

(B) dAuldy Aesiz

(C) 9{'2&@1{ YlAs2m1

D) UAW,




57. Match the following and select the , ok BS
57. <AL [Aseuid st ¢
correct answer from the codes given -
below : @ Ml a8 @ UsAL
() Communication (a) Radio g 2
Gy Ml HIH (b)) U i
barrier
Qa2
(i) Communication (b) Shanon
medium and i) Al WS (0 & ulRMe
Weaver y N
Go) A BAUHS (@) Hdd
(iii) Communication (¢) Video
My
model conferencing
(fv) Interactive {d) Noise 3“]_5 .
Communication
G G G v
Codes :
. .. 3 A (@ b)) (e d
G) @) G (o) (&) & *H ) @)
@ @ & © 0@ ® @ @ ©® ©

®B) @ @ ©® © | |
© ® © @ @

©c) ® © @ @

O d © B () D) @ © & (@
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58. Some experts consider third 58

generation of OPACs as :

2dls deliil Ha > VL OPAC
(2(ils) 224 -

(A) A little more than imitations A 41 32l 53008 3[\[@ ag
of card catalogues
. Ny (B) Hvucd Ay ayqidl yig) %
(B) Primarily book finding lists N <
that work best for known item WsR] \E{QLC{dL S adl
searohitig BUGeHA wWadl w2 @rm_ YRalR
(C) Web OPACs with GQUI W{
interfaces, Z39.50 complaint (C) .42, $22354 213 739,50
systems o 243U dot Ysy
(D) Systems marked by increasing D). Al uglzll F4i siig EECTRE

the number of access points

available for searching

Y HIPUML WY [Bieg >l 1Y n
PlAl gy

59. Match the fol.lowing and select the

. 59. Al [Qseld R
correct answer from the codes given

below :

() Web 2.0

(@) Cataloguing

@ dot 2.0 (@) YRsw

() S28» €l B) WHPrs

(ii) Databage (b) Social Aea oy

ROt Networking Gid) AFAROGUL () Sludlol
ii) FRBR ) Dial .
- (¢) Dialog () A6 GUBBR (@) Wioflell
(iv) Web browser (d) Mozilla “

518

Codes :

: . (@) (i) Gi) (o)

@ G G G - _
A) ®) (0 @ . A 0 © @ @«
(B) (d) (C) (a) (B) (d)' (C) (b) (a)
C) b © (@ (@) € & © @ (@
D) © @ (@ (b) D) © @ () (b)

L. &I S.-III © 28




60.

61.

62.

In binary number system, digit 7

is represented by :
(A) 101
(B) 001
(C) 111
(D) 100

Theory ‘X’ and theory Y’ was put-

forth By ‘
(A) Peter Drucker

(B) Douglas McGregor
(C) Henri Fayol

(D) Henri Gantt

The ‘Bibliography of Bibliographies’

is grouped under :

(A) Primary document
(B) Secondary document
(C) Tertiary document

(D) Meta document

L. &1 S.-1II

60.

Bl

62.

opue R vis uglul »is 7 dla-umidl
Al gizl salacuHl »ud & 7

(A) 101

(B) 001

(C) 111

(D) 100

Bigid K 217 Rigid v 58l 29 sl
edl 7
(A) dlex gs2

(B) SodlA H5AANR

(©) sdl 3dla

(D) el a2

syl asnEyla’ sl R

gem wid & 7
(A) wufds uaw
B) [l uav
(©) qdla udu

(D) Hel daw

[P.T.O.]




63.

64.

The ‘Web of Knowledge’ is the

service offered by :

(A) BIOSIS

(B) Springer.

(C) Elsevier

(D) Thomson'Reutérs

The p_i'incipal objective of .UAP

programme was :

(A) to have a bibliographical
control over publications

(B) to have a proper cataloguing

of publications

(C) to make the publications

available to users

to have a universal

(D)

bibliography
L. &I. S.-III
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64.

‘Aol 2ls DAY Adl sl gl3l
buuqmi.wcl 9 7

(A) oudi(l

(B) wll-=2

(C) AAR

(D) 4iHy R

usiai-l dRqs Guaeadl (UAP)

sdsuAl Yoy &g edl
(A) ustarlg asHuyRY FEse w
(B)

uslaily 4oy yRis W

©) Gualdsdl>(d usia-l yao

oirlagl H12

D) ABas crsnuyl wR




65. The term ‘information overload’ was 65. ‘Hiledl-l 2HY[Bd qgil’

coined by : (information overload) ue-l AL
(A) Eugene Garfield 53U ¢

(B) Derek De Sola Price (A) 3 ouldes

(C) Alvin Toffler (B) S35 sl éﬂeu ULSAU

(D) H. Davenport (C) ileas elsar

66. The value of correlation coefficient D) . SEREIE

r ranges from : 66. AeA6ld UBlisl Hedrdl Y r
(A) 0to1 (A) 04l 1

B) +1to-1 (B) + 1 -1

C) -1t 0 | € —14l0

D) 0 to + 1 D o4l +1

L. &1 S.-III 31 [P.T.O.]




67. Digital Library of India is
established under the auspices of :
(A) Department of Electronics and
Information. Technology
(B) Department of Science and
Technology
(C) Department of Higher
Education
(D) Department of
Telecommunication
68. Hypothesis is a :
(A) Tested statement of the
research
(B) Tentative statement of the
research
(.C) Finding of the research
I (D) Conclusion of the research
L. &I. S.-III

67.

68.

‘(Sowed dldel Al s Slsul’ -l

2ULYAL sUL [aeor s s aAlMl

e

(A) SAsRsA 2 R 25idiow
([Aeqial

B) (A2 214 ésﬂcﬁ@ BICIN

(©) G [&er [asust

D) edlsxylsaq [aso

Beseurl (Hyppthesis) 9460 7

(A) Aala-d AsAd [Qai-

(B) Asladd s1Maa16 [aaid

(C) il [Fvsel

(D) AWl BUAdLLR




69.

70.

Tl

Who among the following was the  69.

beginner of Internet ?
(A) NICNET
(B) ALANET
(C) ARPANET

(D) LISNET

Moodle 1s :

70.

(A) an e-learning programme
(B) a Library software
(C) a Database Management

Sy'sten1

(D) a Classification Scheme

1.

‘Mathematics for Engineers’ 1s
the example of which phase relation
in CC ?

(A) General

(B) Bias
(C)

Comparison

(D) Influence

L. &I S-III 33

il Seezqedl azaiid 53R
$19L &l 7

(A) ls-e
AR
LUl

dlade

ysd (Moodle) 4 © 7
(A o-alla siis
(B) Audd Alsedz
(C) el Ay Adou-e [Rrex
M) ad(lsz@ ugld

‘Sl salBiaq’ M ‘SRl Hied
AR’ 2 sul Uslz-il uied dolw

(phase relation) 4 Gelszel © 7
(A) UM

B) glebiy (glesial)

(C) de-il

(D) sl (AuR)

[P.T.O.]




72. Which is the coﬁlponent of Selective
Dissemination of Information (SDI)
service ?

(A) Author profile
(B) Library profile
(C) Publisher profile

(D) User profile

73. The symbol (=) equals within

parenthesis in UDC is used for :

(A) Common Auxiliaries of
Language
(B) Common Auxiliaries of Racial

and Ethnic Groups

(C) Common Auxiliaries of

Forms

(D) Common Auxiliaries of

Time

L. & I. S.-III 34

72,

73.

wriedllysd HURdl w1 (SDI) Acud
oL 5y © 7

A sdl WisiSa

(B) slaiad wisiSa

(C) uslUs Miside

(D) Guuiasdl wisisy

g.olal. Hi (=) agslani otzioiz-l
[Fandl (Bee) 9 W2 Gualom]

AdlHl 21d 9 ?

(A) GUML HlSrl HIHIY qelds

(B) ald 24 dally oz wi2el ey

Al
(C) [3U M2l ALHIL HelUS

D) 5100 (H4) s3ls WA Helys




74. General Information Programme

75.

(PGI) was started by :
(A) IFLA

(B). FID

(C) ALA

(D) UNESCO

To which country is the credit given
to have coined the term information

society ?
(A) USA
(B) France
(C) dJapan

(D) India

L. &1.S.-III

74.

75.

=, MRl stlsy (PGD) Si-L gLl

93 udl edl ?
(A) 954l

(B) Q?lis'-buﬁél.
(C) a3
(D) YAl

WRAl A% (Information Society)
yeell R A saL 2l AN
21 €9 7

(A) yuiul

(B) si™

(©) Aur

(D) *Hikd

[P.T.O.]




ROUGH WORK
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